Lo Y e 1
< TV
e
e I

X

1:200,000

= 45
iy

(1/200,000)

1:25,000

N7 N

BX—1 ()
THKEZERRE - THKEHNERRE LTER

e T T B R T T i — T Sy T T T R N~~~ T N T B~ S W =T B i —
ORI, E bR R % & C. B3 T10)% T M BI25000 8 U F I R205 & BB LT- 5 D C 5 -

(1/25,000)
BARRDIESE THER
EREE 424-2199
e ==W\% 23|
Fr1EHh KM R BT==F0)10

(KRES

FI0mE, F15)




IKEERREFOHEENARICRLIHE

(ZED2)

#HRX—2 (L) EBREHLABTS R AORECBET SR N GE)%’;%% +a% EEE 424-2199
S
IEROBEN1mBRABE. TEED A
iﬁ')‘ﬁi%%ﬂilziﬁ - iﬁ'}‘ﬁi%ﬁﬂﬂ%ﬁgﬁ — FBEN & B HHBOKN/ M E#B 7 B K e — % = :--::z:% I:':/J\§J||
i [ ERERES | TRAOBEN 1 mBASHE. LEFO . HTES B |
FORLLE | mmic & 550N il TORS iR * *E E
ehanomn 1:2,500 |4 e g FREHE | KA RG)IBTSEROII




